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’ 100kN/mM%#EZ % — -~ — —|3m%EEZD -~ — — — | 100kN/m%kEZ % - -~ - —|3mZEEEZD — ~ - - —
znLst 1.00] 000 ~ 7.72 99.06 | Znlu4 | 000 ~ 7.72 | 1.96 10.49 ZznLst 1.00 | 5.00 ~ 11.85 99.06 | #n U4t | 500 ~ 11.85| 1.96 10.49
9 100kN/m##E%%| 1.00| 000 ~ 1.57 124.01 |3mZ#EZ 5 -~ — — —| 100kN/m%#E%%| 1.00 [10.62 ~ 16.31 12401 |3m%ERBZ % -~ — — —
znLst 1.00 | 1.57 ~ 9.36 100.00 | Zh A4t | 0.00 ~ 936 | 2.31 12.35 ZznLst 1.00 | 5.00 ~ 10.62 100.00 | Zh st | 5.00 ~ 16.31 | 2.31 12.35
4 100kN/m##E%%| 1.00| 000 ~ 1.57 124.01 |3mZ#EZ 5 -~ — — —| 100kN/m%#E%%| 1.00 [10.62 ~ 16.31 12401 |3m%ERBZ % -~ — — —
ZznLst 1.00 | 1.57 ~ 9.36 100.00 | Zh st | 000 ~ 936 2.12 11.37 ZznLst 1.00 | 5.00 ~ 10.62 100.00 | Zh st | 500 ~ 1631 ] 2.12 11.37
4 100kN/mM##8 2% 1.00 | 0.00 ~ 1.69 125.85 |3m&EF{EZ 5 -~ — — —| 100kN/m#%#8%%| 1.00 [1055 ~ 16.33 125.85 [3m&EF{EZ 5 -~ — - -
znLst 1.00 ]| 1.69 ~ 947 100.00 | Zh st | 000 ~ 947 222 11.87 ZznLst 1.00 | 5.00 ~ 10.55 100.00 | #h st | 500 ~ 16.33 | 2.22 11.87
5 100kN/m%#E%%| 1.00| 000 ~ 2.06 131.81 |3mZ#EZ 5 -~ — — —| 100kN/m%#E%%| 1.00 [10.78 ~ 18.35 131.81 |3m%E{BZ % -~ — — —
znLst 1.00 ]| 206 ~ 984 100.00 | #hist | 000 ~ 9.84 | 2.30 12.32 ZznLst 1.00 | 5.00 ~ 10.78 100.00 | £ ist | 500 ~ 18.35 | 2.30 12.32
6 100kN/m##E%%| 1.00| 000 ~ 2091 146.16 |3mZEHEBZ % -~ — — —| 100kN/m%#E%%| 1.00 [10.77 ~ 24.46 146.16 |3mZEHBZ 3 -~ — — —
znLst 1.00] 291 ~ 10.70 100.00 | £ ist | 000 ~ 10.70 | 2.50 13.37 ZznLst 1.00 | 5.00 ~ 10.77 100.00 | #hist | 500 ~ 2446 | 2.50 13.37
7 100kN/mM##8 2% 1.00 | 0.00 ~ 292 146.29 |3m%EF{EZ 5 -~ — — —| 100kN/m%#8%%| 1.00 [1059 ~ 24.60 146.29 [3m%E{EZ 5 -~ — - -
ZzhnLst 1.00] 292 ~ 10.70 100.00 | £ ist | 000 ~ 10.70 | 2.44 13.05 ZzhnLst 1.00 | 5.00 ~ 10.59 100.00 | #Hist | 500 ~ 24.60 | 2.44 13.05
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/mM%#EZ % ~ ImEHEZD ~
Thist ~ Th st ~ ZThist ~ Th st ~
100kN/mM%{EZ % ~ ImEEZD ~ 100kN/mM%#EZ % ~ ImEBRD ~
Thist ~ Th st ~ ZThist ~ Th st ~
100kN/mM%{EZ % ~ ImEHEZD ~ 100kN/mM%#EZ % ~ ImEBRD ~
Thist ~ Th st ~ ZThist ~ Th st ~
100kN/mM%{EZ % ~ ImEHEZD ~ 100kN/mM%#EZ % ~ ImEBRD ~
Thist ~ Th st ~ ZThist ~ Th st ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/mM%{EZ % ~ ImEBRD ~
Thist ~ Th st ~ ZThist ~ Th st ~
100kN/mM%{EZ % ~ ImEEZD ~ 100kN/mM%{EZ % ~ ImEBRD ~
Thist ~ Th s ~ ZThist ~ Th st ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#EZ % ~ ImEBRD ~
Zhst ~ Th st ~ Zhist ~ Th s ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#EZ % ~ ImEBRD ~
ZThst ~ Th st ~ ZThst ~ Th st ~




